RDD Evolution Equation I

We obtained

$$\widehat{f}(x) = \int_{0}^{\pi} dy \left(dz \, \mathcal{D}(z\lambda - x) f(z) \left[\mathcal{D}(z-1) + \mathcal{D}_{B}^{B} dy \right] \right)$$

where

where
$$dP_{BA}(z)dz = \frac{1}{8\pi^2} \frac{2(1-2)}{z} \sum_{p \in N} \frac{|V_{A>B+c}|}{|E^2|} \frac{1}{dz} dz dz P_2^2$$

A C dPBA (7) = dPBA (1-2)

S dPBA (7) = dPBA (1-2)

S Quariz Gluon Vertex

We consider now specific case

$$\frac{1}{A} = \frac{1}{V(X_A)} \frac{1}{[-igX_A^+]} \frac{1}{V(X_C)}$$

$$=\frac{1}{2}\frac{1}{N}\frac{1}{A}\frac{1}{2}\frac{1}{N}\frac{1}{A}\frac{1}{2}\frac{1}{N}\frac{1}{2}\frac{1}{N}\frac{1}{2}\frac{1}{N}\frac{1}{2}\frac{1}{N}\frac{1}{2}\frac{1}{N}\frac{1}{2}\frac{1}{N}\frac{1}{2}\frac{1}{N}\frac{1}{2}\frac{1}{N}\frac{1}{2}\frac{1}{N}\frac{1}{2}\frac{1}{N}\frac{1}{N}\frac{1}{2}\frac{1}{N$$

=> We consider physical transverse gluons:

We consider physical state of
$$i,j=1,23$$

$$\sum_{pe} G_{\mu} G_{\nu} = \sum_{i,j} - \underbrace{k_{B}^{i} k_{B}^{j}}_{K_{B}^{2}} \qquad i,j=1,23$$

$$\frac{\vec{k}_{c} \cdot \vec{k}_{A}}{\vec{k}_{c} \cdot \vec{k}_{B}} = \frac{(1-2)}{2} p^{2} - p_{\perp}^{2}$$

$$\frac{\vec{k}_{A} \cdot \vec{k}_{B}}{\vec{k}_{B}} = \frac{2}{2} p^{2} + p_{\perp}^{2}$$

$$\frac{\vec{k}_{A} \cdot \vec{k}_{B}}{\vec{k}_{B}} = \frac{2^{2}}{2^{2}} p^{2} + p_{\perp}^{2}$$

/194 C2(P2)[(1-2)P2-(2(1-2)P2-P13)2P3+ P12 - 2U-8)]

$$=\int_{1}^{2} \left(C_{2}(R) \int_{1}^{2} (1-2)P^{2} - \frac{\left(\left[2(1-2)P^{2} - P_{1}^{2} \right]^{2} + \frac{p_{1}^{2}}{2(1-2)} \right)}{2^{2} + \frac{p_{1}^{2}}{p_{2}^{2}}} = \frac{1}{2(1-2)}$$

$$\frac{-\frac{2}{9}\left(2\left(\frac{1}{1}\right)\right)\left(\frac{1}{2}\right)P^{\frac{2}{2}}+\frac{1}{2}\left(\frac{1-\frac{2}{1}}{1}\right)P^{\frac{3}{2}}}{P^{\frac{2}{2}}}+\frac{2}{2}\left(\frac{1-\frac{2}{1}}{1}\right)P^{\frac{3}{2}}+P^{\frac{3}{2}}}{P^{\frac{3}{2}}}+\frac{P^{\frac{3}{2}}}{2}\left(\frac{1-\frac{2}{1}}{1}\right)P^{\frac{3}{2}}+P^{\frac{3}{2}}}{P^{\frac{3}{2}}}$$

$$= \frac{P_1}{P_2} \left(\frac{P_2}{P_1^2 + P_2^2} + \frac{P_1^2}{2(1-2)} \right)$$

$$= \sqrt{\frac{2}{2}} \left(\frac{2(1-2)P_1^2 + 2^2P_2}{2^2(1-2)} \right) = 2 \left(\frac{2}{2} P_1^2 \left(\frac{2-22+2^2}{2^2(1-2)} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{2} + \frac{2}{2} + \frac{2}{2} \right) = \frac{2}{2} \left(\frac{2}{2} - \frac{2}{2} + \frac{2}{$$

$$\frac{d R_{qq} = \frac{g^{2}}{8\pi^{2}} \frac{2(1-2)}{2} \frac{g \cdot C_{2}(R)}{2(1-2)} \frac{[1+(1-2)^{2}]}{2} dR_{1}^{2}}{2} = \frac{d}{2\pi} C_{2}(R) \left[\frac{1+(1-2)^{2}}{2} \right] dR_{1}^{2} = \frac{d}{2\pi} C_{2}(R) \left[\frac{1+(1-2)^{2}}{2} \right] dR_{1}^{2} = \frac{d}{2\pi} C_{2}(R) \left[\frac{1+(1-2)^{2}}{2} \right] dR_{1}^{2} = \frac{d}{2\pi} C_{2}(R) \left[\frac{1+(1-2)^{2}}{2} \right] \frac{dR_{1}^{2}}{2} = \frac{d}{$$

$$P_{qq}(2) = P_{qq}(1-2) = G_{2}(k) / \frac{1+2^{3}}{1-2}$$

=> Calculation of Cluon => 9 splitter

- [Ma→99 = U(KB) Ve (Kc) [-ig- fu +ab G (la)]=

1/(1-t)

$$\begin{aligned} & \begin{array}{l} \vec{R}_{c} \vec{R}_{b} &= 2 \left(R^{2} \right) \beta^{2} - \beta_{a} \\ & \begin{array}{l} \vec{R}_{b} \vec{R}_{b} &= 2 \beta^{2} \\ \vec{R}_{b} \vec{R}_{b} &= 2 \beta$$

Using Eg(1) $dP_{9G} = \frac{1}{8\pi^{2}} \frac{24+2}{2!} \frac{29P_{3}^{2}}{24+2} \frac{1}{P_{3}^{2}} \frac{1}{2} (7+11+2)^{2} dP_{3}^{2}$

$$= \frac{1}{2\pi} \left(\frac{2^{2}}{4} \left(\frac{1-2}{2} \right)^{2} \right) dh_{1}^{2} = \frac{1}{2\pi} \left(\frac{2}{4} + \left(\frac{1-2}{2} \right)^{2} \right) dh_{1}^{2} = \frac{1}{2\pi} \left(\frac{2}{4} + \left(\frac{1-2}{2} \right)^{2} \right) dh_{1}^{2} = \frac{1}{2\pi} dh_{1}^{2$$

$$P_{99}(2) = \int_{2}^{2} \left(2^{2} + (1-2)^{2}\right)$$